0|
olie
Nfo

oln

A,B,C7FAcBcC¥ Uttt

s

Al A

4.

® AccC

@ Cc¢B
®CcA

10K Th

{z|z=
St

O Acwo

@ BcA
5. U

of tf

A-B=1{2,57,ANB = {6,8},A°N B° = {1,3,4}

-
Al

ol
vl

® {6,7,8}
® {6,7,8,9}

@ {6,9}

@® {6,8}
@ {6,8,9}

® 9

@ {0}
® {2,3,4}

o

gl A A

2o 2o

@ {1,2,3}
@ {0,1,2,3}

2. o

Ton

sfolat,

;’_L

=
=

o

I
o

=0

A

@5 917] of

® {1,2}
2ol 6 Holt}. ojuf,

{1,2,3,4,5} ,B— A

@ {3}
® {4,5}

st AUB

o

A, B ol o

@_
Fod=t,

@ {1,2,3}

7‘\:1]
© {1}

?_

6.

ted

9

&0 A58 T

]

-
pin

[e]

129] oF4:)

L
L

{z|z
{1,3,5,7,9}

2
C
D




8. 6HT 22 H40] Y& Azt T o], 7|5 €, ¢ 9]
27 AHEE AL H|oA nE 12H9
FEl

Q1¢4 ©2€eA © 3¢cA

® 4¢4 @5€ec4 ® 6¢A
© 006
ORERCNC)

® 0,006

@ 0,066

® 0,066 60,6

9. A={z|z=] |9 %5}, B = {z|z¥E 489 %}
ojx AcBL [ |t EoIZ e
2 7fQlx] Fatoiat,

AL
T

10.5 A% A, B 7} gt 28 W), (a,h) & Foh#?

ANB={1,5}
AUB ={1,5,6,8}
A={l,a+2,6}
B={1,b—20b+1}

@ (3,4)
@ (4,4)

11.5% et A, B 9 diste] n(A) =
20, n(ANB) =8 4 W], n(B)=?

15, n(AU B) =

® 16

D n(2) =n({0})

@ n({1,2.4}) - n({1,4}) = 2

® n({4}) =4

@ n({x\x% 40 o]s}9] Q‘—’F}) =40

O n({zlze2<z <4 EF}) =1

13.5% A% A = {z | 2 99 ©I5t2] 39] 8}, B = {x |
z= 99 olste] 99] Hi=}ofl Histe] (AU B) 9] Y49
P
@ 3 @31 O 33

@9 ® 13

14.200 ofsto] zpda
o Mg

FolH 2 o] w4 Ex 3 o] w5l
Fatelet.




@ B c A°|H n(B) <n(A) °o]th.
© (A-B)U(B-A)=(AUB) - (ANDB)
© A— (o} o1 n(4) =0 oIt}

Z]

® U° 2 He e 724

ok

olct.

Mr

@ A-B=B-A°HA (AUB) C B °|t}.




